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I Auemptthe tollowing -
A Whats the use of Futility value iy A0 algorithm?
b Whatare the problems associated with (he

lill climbing?
o) What are production syste

ms?
&) Ditferentiate between forward reasoning and backward reasoning.
) What is property mheritance?

D What are the different elemens ol a seript?
2) Whatare competing and cooperative agents?
h) Why Bayesian theorem is mtractable?

1) What is STRIPS?

—

List different learning approaches. (10x1)

UNIT -1

—_——

. 1ot e S A dar
Il a) Describe the different problem characteristics that we must consider’

Is heuristic
approach a greedy approach?

b) What is simulated annealing” How temperature schedule affects the outcome?
. ) Explain the A* algorithm in detail? Prove that Algorithm will converge within the
. { *X ‘ (Sl Gy

imati (R
¢stimation error.

: isfaction algorithm? Explain its working using an

) S satisfaction algorithm? Explain i g

b) Describe the constraint satisfs 5.2
example.

X _ it criteria in Min-Max algorithm.
V. a) Explain the different exit criteria in lausibil;
X v oused for? Describe the term plausibility,
) . ser shafer theory used for? Desc \
b) What is Dempster shafer .
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¢) What are partitioned semantic nets” Explain using an example s
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1 is using an example.

anner? Explait
d of problems, it is used? (5.5)

a) What is Partial order pl
hat kin

b) What is continuous planner? Ior w
a) Explain the different learning approaches. What is inductive learning?

ases of Natural Language Processing. 5.5)

b) Explain the different ph

a) What are expert systems? Explain the different blocks of Rule based exp
ert

system.
b) What is the use of working memory in expert system? (6,4)
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